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0.30.20.10.00.1

Fiber 979, dchi2frac= 1.0



2 0 2

2

0

2

data

1 2 3 4 5 6

2 0 2

2

0

2

model

2 3 4 5

2 0 2

2

0

2

residuals

2.52.01.51.00.50.0

Fiber 2992, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.04.55.0

2 0 2

2

0

2

model

1.52.02.53.03.54.0

2 0 2

2

0

2

residuals

0.40.20.00.20.40.60.8

Fiber 2603, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.04.5

2 0 2

2

0

2

model

1.52.02.53.03.54.04.55.05.5

2 0 2

2

0

2

residuals

1.00.80.60.40.20.0

Fiber 1110, dchi2frac= 1.0



2 0 2

2

0

2

data

2 3 4 5 6

2 0 2

2

0

2

model

2 3 4 5 6 7 8 9

2 0 2

2

0

2

residuals

7 6 5 4 3 2 1 0

Fiber 553, dchi2frac= 1.0



2 0 2

2

0

2

data

2 3 4 5 6 7 8 9

2 0 2

2

0

2

model

2 3 4 5 6 7

2 0 2

2

0

2

residuals

0.250.000.250.500.751.001.25

Fiber 8, dchi2frac= 1.0



2 0 2

2

0

2

data

1.01.52.02.53.03.5

2 0 2

2

0

2

model

1.01.52.02.53.03.5

2 0 2

2

0

2

residuals

0.100.050.000.050.100.150.20

Fiber 4530, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 2.0 2.5 3.0 3.5

2 0 2

2

0

2

model

1.52.02.53.03.54.04.55.0

2 0 2

2

0

2

residuals

3.02.52.01.51.00.50.0

Fiber 4045, dchi2frac= 1.0



2 0 2

2

0

2

data

2.02.53.03.54.04.55.05.56.0

2 0 2

2

0

2

model

3.03.54.04.55.05.56.0

2 0 2

2

0

2

residuals

0.60.40.20.00.20.4

Fiber 496, dchi2frac= 1.0



2 0 2

2

0

2

data

1.01.52.02.53.03.5

2 0 2

2

0

2

model

1.0 1.5 2.0 2.5 3.0 3.5

2 0 2

2

0

2

residuals

0.20.10.00.10.20.30.40.5

Fiber 2667, dchi2frac= 1.0



2 0 2

2

0

2

data

10.511.011.512.012.5

2 0 2

2

0

2

model

10.511.011.512.012.5

2 0 2

2

0

2

residuals

7.47.27.06.86.66.46.2
1e 9

Fiber 1056, dchi2frac= nan, EXCLUDED



2 0 2

2

0

2

data

1.52.02.53.03.54.04.55.0

2 0 2

2

0

2

model

2 3 4 5

2 0 2

2

0

2

residuals

0.50.40.30.20.10.00.1

Fiber 2622, dchi2frac= 1.0



2 0 2

2

0

2

data

1 2 3 4 5 6 7

2 0 2

2

0

2

model

1 2 3 4 5 6 7

2 0 2

2

0

2

residuals

1.00.80.60.40.20.00.2

Fiber 2901, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.04.55.05.5

2 0 2

2

0

2

model

2 3 4 5 6 7 8 9

2 0 2

2

0

2

residuals

7 6 5 4 3 2 1 0

Fiber 861, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.0

2 0 2

2

0

2

model

2 3 4 5 6 7 8 9

2 0 2

2

0

2

residuals

6 5 4 3 2 1 0

Fiber 579, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 2.0 2.5 3.0 3.5

2 0 2

2

0

2

model

1.52.02.53.03.54.0

2 0 2

2

0

2

residuals

0.40.30.20.10.00.1

Fiber 69, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.04.55.0

2 0 2

2

0

2

model

2 4 6 8 10

2 0 2

2

0

2

residuals

7 6 5 4 3 2 1 0

Fiber 321, dchi2frac= 1.0



2 0 2

2

0

2

data

2 3 4 5

2 0 2

2

0

2

model

2 3 4 5 6

2 0 2

2

0

2

residuals

0.30.20.10.00.10.2

Fiber 4108, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 2.0 2.5 3.0 3.5

2 0 2

2

0

2

model

1.52.02.53.03.5

2 0 2

2

0

2

residuals

0.40.30.20.10.00.1

Fiber 395, dchi2frac= 1.0



2 0 2

2

0

2

data

1.01.52.02.53.03.54.04.5

2 0 2

2

0

2

model

1.01.52.02.53.03.54.04.5

2 0 2

2

0

2

residuals

0.3 0.2 0.10.0 0.1

Fiber 4870, dchi2frac= 1.0



2 0 2

2

0

2

data

1.01.21.41.61.82.02.22.4

2 0 2

2

0

2

model

1.001.251.501.752.002.252.502.75

2 0 2

2

0

2

residuals

0.3 0.2 0.10.0 0.1

Fiber 1168, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.04.5

2 0 2

2

0

2

model

1.52.02.53.03.54.04.5

2 0 2

2

0

2

residuals

0.60.50.40.30.20.10.00.1

Fiber 434, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.04.5

2 0 2

2

0

2

model

1.52.02.53.03.54.0

2 0 2

2

0

2

residuals

0.4 0.20.0 0.2 0.4

Fiber 2026, dchi2frac= 1.0



2 0 2

2

0

2

data

0.50.00.51.01.52.02.53.03.5

2 0 2

2

0

2

model

0 1 2 3

2 0 2

2

0

2

residuals

0.3 0.2 0.10.0 0.1

Fiber 4175, dchi2frac= 1.0



2 0 2

2

0

2

data

1 0 1 2

2 0 2

2

0

2

model

1 0 1 2

2 0 2

2

0

2

residuals

0.50.40.30.20.10.00.1

Fiber 2626, dchi2frac= 1.0



2 0 2

2

0

2

data

1.251.501.752.002.252.502.75

2 0 2

2

0

2

model

1.21.41.61.82.02.22.42.6

2 0 2

2

0

2

residuals

0.100.050.000.050.100.15

Fiber 78, dchi2frac= 1.0



2 0 2

2

0

2

data

2 3 4 5 6 7 8

2 0 2

2

0

2

model

1.5 2.0 2.5 3.0 3.5

2 0 2

2

0

2

residuals

0 1 2 3 4 5

Fiber 4265, dchi2frac= 1.0



2 0 2

2

0

2

data

2 3 4 5 6

2 0 2

2

0

2

model

2 3 4 5 6

2 0 2

2

0

2

residuals

0.20.10.00.10.20.30.40.50.6

Fiber 4269, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.04.55.0

2 0 2

2

0

2

model

1.52.02.53.03.54.04.55.05.5

2 0 2

2

0

2

residuals

0.40.30.20.10.00.1

Fiber 369, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 2.0 2.5 3.0 3.5

2 0 2

2

0

2

model

1.52.02.53.03.54.0

2 0 2

2

0

2

residuals

0.150.100.050.000.05

Fiber 732, dchi2frac= 1.0



2 0 2

2

0

2

data

1.21.41.61.82.02.22.42.62.8

2 0 2

2

0

2

model

1.41.61.82.02.22.42.62.8

2 0 2

2

0

2

residuals

0.0 0.1 0.2 0.3

Fiber 2840, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.0

2 0 2

2

0

2

model

1.52.02.53.03.54.04.55.0

2 0 2

2

0

2

residuals

0.8 0.6 0.4 0.20.0

Fiber 4486, dchi2frac= 1.0



2 0 2

2

0

2

data

1 2 3 4 5 6

2 0 2

2

0

2

model

2 3 4 5 6

2 0 2

2

0

2

residuals

1.751.501.251.000.750.500.250.00

Fiber 4640, dchi2frac= 1.0


